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bb64R =bb[4R 6[4R —b5[JR 5|4R —bb *5|4R

bs64F +b56b[4R +EbE|4R =0

LHS =bb[4R 648 —b6[4R b[4R —bb 5[ R
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+56|4R b[4R —bb|4R 5[4R — 55 °b[4R +6b[4R 5|48 —66|4R b[4R —6b 5|4 R

=b756/4R +6%6b[4R +65°b6[4R —bb*E4R — 65 b4k —5b (b|4R
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=625 %6 +6576 %b +67%b %6 =0

b6 R a6 +bavEE6E4R =0

LHS = b5[4R 5[4F a¥6 —b5[dR 5[4R a¥b —b % b 754 F a%

—_———n~ee—

tbavE5 AR B[4R —bavEE|4R 5|[4R —bavb 7g 5 (5|4 R

~ I ~ I's s ~
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~bb|4F a¥65[4R 5 P ba65[4R +b5[IR aVEE[4R +5 % ba'sE|d R

=6°%6%6a% —5° 6% ba% +6576 % ba =0
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2LHS =bb6dF a¥b +bavbbbdh = —bE54R a¥b — 5554 R a%
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=b6avbbb|[4R +5avEbb|IR =bbb|4R a¥6 —Ebb|IR a6 =2 RHS

E(Ef)=E(9)+ & (w)=E(9)+ &, (9)
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0= 50 () =€ @)+ £, 0
= £ (g9) = —&, (g) = T stress energy tensor
o€
0= (D =&, (0)
Yang-Mills
YA =YV(A)+ Y, (p) =Y (A)+ Y, (4)

0y
SN =Y (A)+ Y, (4

= Y (A) = =Y, (A) =T stress energy tensor

0= ay<f> Y, ()
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